Vereinsmeisterschaft

Herren 50
Herren 50 Weber Beer Reinwald
Gruppe 1 Wolfgang (2.) Markus (3.) Peter (1.)
Weber, Wolfgang, 1962 6:3/6:4 3:6/1:6
Beer, Markus, 1969 3:6/4:6 6:7/2:6
Reinwald, Peter, 1973 6:3/6:1 7:6/6:2
Herren 50 Ludwig Schwégerl Ludwig
Gruppe 2 Hans (2.) Herbert (3.) Heinz (1.)
Ludwig, Hans, 1959 6:1/6:0 1:6/1:6
Schwagerl, Herbert, 1969 1:6/0:6 0:6/0:6
Ludwig, Heinz, 1958 6:1/6:1 6:0/6:0
Halbfinale
Ludwig, Heinz - Weber, Wolfgang 0.5p.
Reinwald, Peter - Ludwig, Hans 0.5p.
Finale
Ludwig, Heinz - Reinwald, Peter 6:2/6:1
3. Platz
Weber, Wolfgang - Ludwig, Hans 0.5p.
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